Entrainement numéro 1 : exercice sur déplacement d’une tortue

Corrigé

import turtle
bob=turtle.Turtle()
reponse=int(input("quelle est le numéro de figure a faire ?"))
if reponse == 1:
for pas in range (1,5,1):
bob.forward(100)
bob.left(90)
if reponse == 2:
for pas in range (1,4,1):
bob.forward(100)
bob.left(120)
if reponse ==3:
for pas in range (1,20,1):
bob.forward(10+pas*10)
bob.left(90)
if reponse == 4:
for pas in range (1,20,1):
bob.forward(10+pas*10)
bob.left(110)
if reponse ==5:
bob.circle(100)
if reponse == 6:
for rayon in range(100):
bob.circle(rayon+15,20)
turtle.done()



